

INEQUALITIES FOR TERMINATING ${}_{r+1}\phi_r$ AND APPLICATIONS

MINGJIN WANG

(Communicated by A. Čižmešija)

Abstract. In this paper, we use the q -binomial formula to establish two inequalities for the terminating basic hypergeometric series ${}_{r+1}\phi_r$. Applications of the inequalities are also given.

1. Introduction and main results

q -Series, which are also called basic hypergeometric series, plays a very important role in many fields, such as affine root systems, Lie algebras and groups, number theory, orthogonal polynomials and physics, etc. Inequality technique is one of the useful tools in the study of special functions, see e.g. the papers [1, 4, 5, 6, 7, 8, 9]. In [1], the authors gave some inequalities for hypergeometric functions. In [8], the present author gave an inequality for nonterminating ${}_{r+1}\phi_r$. In this paper, we derive two inequalities for the terminating basic hypergeometric series ${}_{r+1}\phi_r$. Some applications of the inequalities are also given.

The main results of this paper are the following inequalities for terminating ${}_{r+1}\phi_r$:

THEOREM 1.1. *Suppose a_i, b_i be any real numbers such that $b_i < 1$ with $i = 1, 2, \dots, r$. Then for any positive integer n , we have*

$$\left| {}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r, q^{-n} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \right| \leq (-|z|q^{-n} \prod_{i=1}^r M_i; q)_n, \quad (1.1)$$

where $M_i = \max\{1, \frac{1-a_i}{1-b_i}\}$ for $i = 1, 2, \dots, r$.

THEOREM 1.2. *Suppose a_i, b_i be any real numbers such that $a_i < 1, b_i < 1$ with $i = 1, 2, \dots, r$. Then for any positive integer n and $z < 0$, we have*

$${}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r, q^{-n} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \geq (zq^{-n} \prod_{i=1}^r m_i; q)_n, \quad (1.2)$$

where $m_i = \min\{1, \frac{1-a_i}{1-b_i}\}$ for $i = 1, 2, \dots, r$.

Mathematics subject classification (2010): Primary 26D15; Secondary 33D15.

Keywords and phrases: Basic hypergeometric function ${}_{r+1}\phi_r$; q -binomial theorem, convergence, inequality.

Supported by STF of Jiangsu Polytechnic University.

Before the proof of the theorems, we recall some definitions, notations and known results which will be used in this paper. Throughout the whole paper, it is supposed that $0 < q < 1$. The q -shifted factorials are defined as

$$(a; q)_0 = 1, \quad (a; q)_n = \prod_{k=0}^{n-1} (1 - aq^k), \quad (a; q)_\infty = \prod_{k=0}^{\infty} (1 - aq^k). \quad (1.3)$$

We also adopt the following compact notation for multiple q -shifted factorials:

$$(a_1, a_2, \dots, a_m; q)_n = (a_1; q)_n (a_2; q)_n \dots (a_m; q)_n, \quad (1.4)$$

where n is an integer or ∞ .

The most important theorem in the theory of basic hypergeometric series is the q -binomial theorem [2, 3]:

$$\sum_{k=0}^{\infty} \frac{(a; q)_k z^k}{(q; q)_k} = \frac{(az; q)_\infty}{(z; q)_\infty}, \quad |z| < 1. \quad (1.5)$$

When $a = q^{-n}$, where n denotes a nonnegative integer, this reduces to

$$\sum_{k=0}^n \frac{(q^{-n}; q)_k z^k}{(q; q)_k} = (zq^{-n}; q)_n. \quad (1.6)$$

Heine introduced the ${}_{r+1}\phi_r$ basic hypergeometric series, which is defined by [2, 3]

$${}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_{r+1} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) = \sum_{n=0}^{\infty} \frac{(a_1, a_2, \dots, a_{r+1}; q)_n z^n}{(q, b_1, b_2, \dots, b_r; q)_n}. \quad (1.7)$$

We denote the sign function by

$$\text{sign } x = \begin{cases} 1, & \text{when } x > 0, \\ 0, & \text{when } x = 0, \\ -1, & \text{when } x < 0. \end{cases} \quad (1.8)$$

It is obvious that $|x| = x \cdot \text{sign } x$.

2. The proof of theorem 1.1

In this section, we use the terminating case of the q -binomial formula to prove theorem 1.1. In order to prove theorem 1.1, we need the following lemma:

LEMMA 2.1. *Let a, b be given real numbers such that $b < 1$, and $0 \leq t \leq 1$. Then we have*

$$\left| \frac{1 - at}{1 - bt} \right| \leq \max \left\{ 1, \frac{|1 - a|}{1 - b} \right\} \quad (2.1)$$

Proof. Let

$$f(t) = \frac{1-at}{1-bt}, \quad 0 \leq t \leq 1,$$

then

$$f'(t) = \frac{b-a}{(1-bt)^2}, \quad 0 \leq t \leq 1.$$

So $f(t)$ is a monotone function with respect to $0 \leq t \leq 1$. Because of $f(0) = 1$ and $f(1) = \frac{1-a}{1-b}$, (2.1) holds. \square

Now, we give the proof of theorem 1.1.

Proof. If $z = 0$, it is easy to see that (1.1) holds. Now we suppose $z \neq 0$. From lemma 2.1, we know

$$\left| \frac{(a_i; q)_k}{(b_i; q)_k} \right| = \left| \frac{1-a_i}{1-b_i} \cdot \frac{1-a_iq}{1-b_iq} \cdots \frac{1-a_iq^{k-1}}{1-b_iq^{k-1}} \right| \leq M_i^k, \quad (2.2)$$

where $b_{r+1} = 0$, $M_i = \max\{1, \frac{|1-a_i|}{1-b_i}\}$ for $i = 1, 2, \dots, r+1$.

Hence,

$$\left| \frac{(a_1, a_2, \dots, a_r; q)_k}{(b_1, b_2, \dots, b_r; q)_k} (-\text{sign } z)^k \right| = \left| \frac{(a_1, a_2, \dots, a_r; q)_k}{(b_1, b_2, \dots, b_r; q)_k} \right| \leq \left(\prod_{i=1}^r M_i \right)^k. \quad (2.3)$$

It is obvious that

$$\frac{(q^{-n}; q)_k (-|z|)^k}{(q; q)_k} > 0, \quad k = 1, 2, \dots, n.$$

Multiplying both sides of (2.3) by

$$\frac{(q^{-n}; q)_k (-|z|)^k}{(q; q)_k}$$

gives

$$\left| \frac{(q^{-n}, a_1, a_2, \dots, a_r; q)_k z^k}{(q, b_1, b_2, \dots, b_r; q)_k} \right| \leq \frac{(q^{-n}; q)_k}{(q; q)_k} (-|z| \prod_{i=1}^r M_i)^k. \quad (2.4)$$

So, we have

$$\begin{aligned} \left| {}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r, q^{-n} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \right| &= \left| \sum_{k=0}^n \frac{(q^{-n}, a_1, a_2, \dots, a_r; q)_k z^k}{(q, b_1, b_2, \dots, b_r; q)_k} \right| \\ &\leq \sum_{k=0}^n \left| \frac{(q^{-n}, a_1, a_2, \dots, a_r; q)_k z^k}{(q, b_1, b_2, \dots, b_r; q)_k} \right| \\ &\leq \sum_{k=0}^n \frac{(q^{-n}; q)_k}{(q; q)_k} (-|z| \prod_{i=1}^r M_i)^k. \end{aligned} \quad (2.5)$$

Using the q -binomial theorem (1.6) one obtains

$$\sum_{k=0}^n \frac{(q^{-n}; q)_k}{(q; q)_k} (-|z| \prod_{i=1}^r M_i)^k = (-|z| q^{-n} \prod_{i=1}^r M_i; q)_n. \quad (2.6)$$

Substituting (2.6) into (2.5), we get (1.1). \square

Noticing $(-|z|\prod_{i=1}^r M_i; q)_\infty > 1$, we have

COROLLARY 1. Suppose a_i, b_i be any real numbers such that $b_i < 1$ with $i = 1, 2, \dots, r$. Then for any positive integer n , we have

$$\left| {}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r, q^{-n} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \right| \leq (-|z|q^{-n} \prod_{i=1}^r M_i; q)_\infty, \tag{2.7}$$

where $M_i = \max\{1, \frac{1-a_i}{1-b_i}\}$ for $i = 1, 2, \dots, r$.

3. The proof of theorem 1.2

In this section, we use the terminating case of the q -binomial formula again to prove theorem 1.2. First, we give the following lemma:

LEMMA 3.1. Let a, b be given real numbers such that $a < 1$ and $b < 1$. Then for $0 \leq t \leq 1$, we have

$$\frac{1-at}{1-bt} \geq \min \left\{ 1, \frac{1-a}{1-b} \right\}. \tag{3.1}$$

Proof. Let

$$f(t) = \frac{1-at}{1-bt}, \quad 0 \leq t \leq 1,$$

then

$$f'(t) = \frac{b-a}{(1-bt)^2}, \quad 0 \leq t \leq 1.$$

So $f(t)$ is a monotone function with respect to $0 \leq t \leq 1$. Because of $f(0) = 1$ and $f(1) = \frac{1-a}{1-b} > 0$, the inequality (3.1) holds. \square

Now, we give the proof of theorem 1.2.

Proof. From lemma 3.1, we know

$$\frac{(a_i; q)_k}{(b_i; q)_k} = \frac{1-a_i}{1-b_i} \cdot \frac{1-a_i q}{1-b_i q} \cdots \frac{1-a_i q^{k-1}}{1-b_i q^{k-1}} \geq m_i^k, \tag{3.2}$$

where $m_i = \min\{1, \frac{1-a_i}{1-b_i}\}$ for $i = 1, 2, \dots, r$.

Hence,

$$\frac{(a_1, a_2, \dots, a_r; q)_k}{(b_1, b_2, \dots, b_r; q)_k} \geq \left(\prod_{i=1}^r m_i \right)^k. \tag{3.3}$$

It is obvious that, when $z < 0$

$$\frac{(q^{-n}; q)_{kz^k}}{(q; q)_k} > 0, \quad k = 1, 2, \dots, n.$$

Multiplying both sides of (3.3) by

$$\frac{(q^{-n}; q)_k z^k}{(q; q)_k}$$

gives

$$\frac{(q^{-n}, a_1, a_2, \dots, a_r; q)_k z^k}{(q, b_1, b_2, \dots, b_r; q)_k} \geq \frac{(q^{-n}; q)_k}{(q; q)_k} (z \prod_{i=1}^r m_i)^k. \tag{3.4}$$

So, we have

$$\begin{aligned} {}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r, q^{-n} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) &= \sum_{k=0}^n \frac{(q^{-n}, a_1, a_2, \dots, a_r; q)_k z^k}{(q, b_1, b_2, \dots, b_r; q)_k} \\ &\geq \sum_{k=0}^n \frac{(q^{-n}; q)_k}{(q; q)_k} (z \prod_{i=1}^r m_i)^k. \end{aligned} \tag{3.5}$$

Using the q -binomial theorem (1.6) one obtains

$$\sum_{k=0}^n \frac{(q^{-n}; q)_k}{(q; q)_k} (z \prod_{i=1}^r m_i)^k = (z q^{-n} \prod_{i=1}^r m_i; q)_n. \tag{3.6}$$

Substituting (3.6) into (3.5), we get (1.2). \square

4. Some applications of the inequality

Convergence of a given q -series is an important problem in the study of q -series. In this section, we first use the inequality (1.1) to give the following sufficient condition for convergence of q -series.

THEOREM 4.1. *Suppose a_i, b_i be any real numbers such that $b_i < 1$ and let $M_i = \max\{1, \frac{|1-a_i|}{1-b_i}\}$ for $i = 1, 2, \dots, r$. Further, let $\{c_n\}$ be any sequence of numbers. If*

$$\lim_{n \rightarrow \infty} \left| \frac{c_{n+1} q^{-(n+1)}}{c_n} \right| = \lambda < \frac{1}{|z| \prod_{i=1}^r M_i}, \tag{4.1}$$

then the q -series

$$\sum_{n=0}^{\infty} c_n \cdot {}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r, q^{-n} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \tag{4.2}$$

converges absolutely.

Proof. Multiplying both sides of (1.1) by $|c_n|$ one gets

$$\left| c_n \cdot {}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r, q^{-n} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \right| \leq |c_n| (-|z| q^{-n} \prod_{i=1}^r M_i; q)_n. \tag{4.3}$$

From (4.1), it is easy to know

$$\lim_{n \rightarrow \infty} \left| \frac{c_{n+1}}{c_n} \right| = 0. \tag{4.4}$$

Hence,

$$\begin{aligned} \lim_{n \rightarrow \infty} \frac{|c_{n+1}|(-|z|q^{-(n+1)} \prod_{i=1}^r M_i; q)_{n+1}}{|c_n|(-|z|q^{-n} \prod_{i=1}^r M_i; q)_n} \\ = \lim_{n \rightarrow \infty} \left| \frac{c_{n+1}}{c_n} \right| + |z| \prod_{i=1}^r M_i \cdot \lim_{n \rightarrow \infty} \left| \frac{c_{n+1}q^{-(n+1)}}{c_n} \right| < 1. \end{aligned} \tag{4.5}$$

By the ratio test, (4.5) shows that the series

$$\sum_{n=0}^{\infty} c_n (-|z|q^{-n} \prod_{i=1}^r M_i; q)_n$$

is absolutely convergent. From (4.3), it is sufficient to establish that (4.2) is absolutely convergent. \square

EXAMPLE 4.2. Suppose a_i, b_i be any real numbers such that $b_i < 1$ with $i = 1, 2, \dots, r$. Because of

$$\lim_{n \rightarrow \infty} \frac{q^{(n+1)^2} q^{-(n+1)}}{q^{n^2}} = \lim_{n \rightarrow \infty} q^n = 0, \tag{4.6}$$

the q -series

$$\sum_{n=0}^{\infty} q^{n^2} {}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r, q^{-n} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \tag{4.7}$$

converges absolutely.

Then we give the following result from inequality (1.2).

THEOREM 4.3. Suppose a_i, b_i, z be any real numbers such that $z < 0, a_i < 1, b_i < 1$ and let $m_i = \min\{1, \frac{1-a_i}{1-b_i}\}$ for $i = 1, 2, \dots, r$. Further, let $\{c_n\}$ be any sequence of numbers. If

$$\lim_{n \rightarrow \infty} \left| \frac{c_{n+1}q^{-(n+1)}}{c_n} \right| = \lambda > \frac{1}{|z| \prod_{i=1}^r m_i}, \quad \text{or} \quad \lim_{n \rightarrow \infty} \left| \frac{c_{n+1}q^{-(n+1)}}{c_n} \right| = \infty, \tag{4.8}$$

then the q -series

$$\sum_{n=0}^{\infty} c_n \cdot {}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r, q^{-n} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \tag{4.9}$$

diverges.

Proof. Multiplying both sides of (1.2) by $|c_n|$ one gets

$$|c_n| {}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r, q^{-n} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \geq |c_n| (zq^{-n} \prod_{i=1}^r m_i; q)_n. \tag{4.10}$$

Since

$$\begin{aligned} & \lim_{n \rightarrow \infty} \frac{|c_{n+1}| (zq^{-(n+1)} \prod_{i=1}^r m_i; q)_{n+1}}{|c_n| (zq^{-n} \prod_{i=1}^r m_i; q)_n} \\ &= \lim_{n \rightarrow \infty} \left\{ \left| \frac{c_{n+1}}{c_n} \right| + |z| \prod_{i=1}^r m_i \cdot \left| \frac{c_{n+1} q^{-(n+1)}}{c_n} \right| \right\} \\ &\geq |z| \prod_{i=1}^r m_i \cdot \lim_{n \rightarrow \infty} \left| \frac{c_{n+1} q^{-(n+1)}}{c_n} \right| > 1, \end{aligned} \tag{4.11}$$

there exists a integer N_0 such that, when $n > N_0$,

$$\begin{aligned} |c_n| \cdot {}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r, q^{-n} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) &\geq |c_n| (zq^{-n} \prod_{i=1}^r m_i; q)_n \\ &> |c_{N_0}| (zq^{-N_0} \prod_{i=1}^r m_i; q)_{N_0} > 0. \end{aligned} \tag{4.12}$$

Therefore the series in (4.9) diverges. \square

EXAMPLE 4.4. Suppose a_i, b_i, z be any real numbers such that $z < 0, a_i < 1, b_i < 1$ with $i = 1, 2, \dots, r$. Because of

$$\lim_{n \rightarrow \infty} \frac{q^{n+1} q^{-(n+1)}}{q^n} = \lim_{n \rightarrow \infty} q^{-n} = \infty, \tag{4.13}$$

the q -series

$$\sum_{n=0}^{\infty} q^n {}_{r+1}\phi_r \left(\begin{matrix} a_1, a_2, \dots, a_r, q^{-n} \\ b_1, b_2, \dots, b_r \end{matrix}; q, z \right) \tag{4.14}$$

diverges.

Acknowledgements. The author appreciates the anonymous referee for his valuable comments on improvement of this manuscript.

REFERENCES

- [1] G.D. ANDERSON, R.W. BARNARD, K.C. VAMANAMURTHY, M. VUORINEN, *Inequalities for zero-balanced hypergeometric functions*, Transactions of the American Mathematical Society, **347**, 5 (1995).
- [2] G.E. ANDREWS, *The theory of partitions*, *Encyclopedia of mathematics and its applications*, v. 2. Addison-Wesley Publ. Company, 1976.
- [3] G. GASPER AND M. RAHMAN, *Basic Hypergeometric Series*, Cambridge Univ. Press, Cambridge, MA, 1990.
- [4] C. GIORDANO, A. LAFORGIA, AND J. PEČARIĆ, *Supplements to Known Inequalities for Some Special Functions*, Journal of Mathematical Analysis and Applications, **200** (1996), 34–41.
- [5] C. GIORDANO, A. LAFORGIA, AND J. PEČARIĆ, *Unified treatment of Gautschi-Kershaw type inequalities for the gamma function*, Journal of Computational and Applied Mathematics, **99** (1998), 167–175.
- [6] C. GIORDANO, A. LAFORGIA, *Inequalities and monotonicity properties for the gamma function*, Journal of Computational and Applied Mathematics, **133** (2001), 387–396.
- [7] C. GIORDANO, A. LAFORGIA, *On the Bernstein-type inequalities for ultraspherical polynomials*, Journal of Computational and Applied Mathematics, **153** (2003), 243–284.
- [8] M. WANG, *An inequality for ${}_r\phi_r$ and its applications*, Journal of Mathematical Inequalities, **1** (2007), 339–345.
- [9] M. WANG, *Two Inequalities for ${}_r\phi_r$ and Applications*, Journal of Inequalities and Applications, vol. **2008**, Article ID 471527, 6 pages, 2008. doi:10.1155/2008/471527

(Received December 11, 2008)

Mingjin Wang
 Department of Applied Mathematics
 Jiangsu Polytechnic University
 Changzhou city 213164
 Jiangsu province
 P.R. China
 e-mail: wmj@jpu.edu.cn; wang197913@126.com